T 2]

SONGJIANGGROUP

ZTF B 5 FH Je 8 3 ek /R 2% 22 e WA

ZTF spring isolator installation guide

LEHT, VT IR R A 0 RS U R IR

Before installation, make sure the model and the specification are correct.

LY

Installation guide

LR A#IE4% 19mm M12) . 24mm (M16) . 32mm (M22) JFEHRT. MAT .
Required tools: 19mm (M12), 24mm (M16) and 32mm (M22) open wrenches and claw jack.
FEAR 56 RS #5% = B TR BT, 15 20K 0= 2 16 R 3L

Before completing the adjustment of the isolator, do not remove the pressure pad from
the isolator.

T AR R R AR [ E LA E, 5 S B T R R A

Embed foundation bolt according to the location of bolt—loaded holes

PRI R A 2B 2 B S, SO e E . (i1 )

Remove quilting rivet after installing the isolator (Fig 1)

PAML2 [ 2 A R i i a5 e g [l g, AR . ( mEl2)

Fasten the isolator and the equipment with M12 fixed bolt without locking it (Fig 2).
V- URl R ) FH A R A [ 5 BT b, M AR AR & [ i B

Fasten the isolator with foundation bolt on the ground and fix the height with wooden

panel.

- GRS () IH] & -
L W L1 w1 A B H 1R

7ZTF-1 260 100 210 100 230 0 200 12 13

ZTF-2 235 220 235 140 195 180 200 14 13

7TF-4 320 165 320 165 290 90 200 14 13

7ZTF-6 400 170 400 170 370 90 200 18 13

7ZTF-9 420 250 420 250 384 180 200 18 13

*B fH 0y 0 FRFLHLAE W/2

HRIE A EH] 40mm. 50mm. 75mm. 100mm. 125mm. 150mm P1

....................................... ngﬁ%ﬁﬁzﬁfﬁ:m‘ TS2731BO0-202( cevveceeeveceeesesncecsencccsantcccanacccnnns
ADD: No.699,Caosheng Road, Shanghai WEB: http://www.songjiangjituan.com



AL 5= B

SONGJIANGGROUP
RS/ Ffrah (kg BENIE (kg/mm) EMHBE (o)
ZTF-1-100 80~120 4 25
ZTF-1-150 120~180 6 25
ZTF-1-200 160~240 8 25
ZTF-1-250 200~300 10 25
ZTF-1-300 240~360 12 25
ZTF-1-350 280~420 14 25
ZTF-1-400 320~480 16 25
ZTF-1-450 360~540 18 25
ZTF-1-500 400~600 20 25
ZTF-1-600 480~720 24 25
ZTF-1-700 560~840 28 25
ZTF-1-850 680~1020 34 25
ZTF-1-1000 800~1200 40 25
ZTF-1-1200 960~1440 48 25
ZTF-2-600 480~720 24 25
ZTF-2-800 640~960 32 25
ZTF-2-900 720~1080 36 25
ZTF-2-1000 800~1200 40 25
ZTF-2-1200 920~1440 48 25
ZTF-2-1400 1120~1680 56 25
ZTF-2-1600 1280~1920 64 25
ZTF-2-2000 1600~2400 80 25
ZTF-4-600 480~720 24 25
ZTF-4-800 640~960 32 25
ZTF-4-1000 800~1200 40 25
ZTF-4-1200 960~1440 48 25
ZTF-4-1400 1120~1680 56 25
ZTF-4-1600 1280~1920 64 25
ZTF-4-2000 1600~2400 80 25
2TF-4-2400 1920~2880 96 25
ZTF-4-2800 2240~3360 112 25
2TF-4-3200 2560~3840 128 25
ZTF-4-4000 3200~4800 160 25
ZTF-4-4800 3840~5760 192 25
ZTF-6-3600 2880~4320 144 25
ZTF-6-4200 3360~5040 168 25
ZTF-6-5000 4000~6000 200 25
ZTF-6-6000 4800~7200 240 25
ZTF-6-7200 5760~8640 288 25
ZTF-9-4500 3600~5400 180 25
P2

....................................... TS Eﬁ%@dﬁfﬁitf:m‘ TS2731BO0-202( cevveceeeveceeesesncecsencccsantcccanacccnnns
ADD: No.699,Caosheng Road, Shanghai WEB: http://www.songjiangjituan.com



AL 5= B

SONGJIIANGGROUP
ZTF-9-5400 4320~6480 216 25
ZTF-9-6300 5040~7560 252 25
ZTF-9-7200 5760~8640 288 25
ZTF-9-9000 7200~10800 360 25
ZTF-9-10800 8640~12960 432 25

i3

ik oo
EiRREWE

TR
AR
BEL

R Rl R 25 v I S RA R N 1 1) S BRI 57 10mm , WEAHXI % . (4B 3 )

Loosen the nuts on both sides for 5 10mm first before adjusting height of the isolator
and lock them afterwards (Fig 3).

M A 42 32mm I HHR T LU I £ J7 ) 1 82 M22 4848, (33852 ) T e, BB #s b as ek
I (i 4 )

Adjust M22 adjustment bolt in the anti—clockwise direction with 32mm open wrench to
press down the spring and to raise the iron sheet (Fig 4).

VAR AT, B R IR R & . (& 5 )

Adjustment can be stopped and wooden panel can be removed once you can take out the
pressure pad (Fig 5).

B 5B E 2 M12 IR 5 i, RISe e, ( ke )

After the adjustment, lock the isolator with M12 fixed bolt (Fig 6).
AR A T RE, a5 R SRR AN R A R RUR . N T B RO L
B, JHEBRARA AT N

After the adjustment, check the press amount of the spring. If it appears with
insufficient loading, pleaereplace with bigger loading by contacting our staff.
LA, THER L.

Be cautious during the installation.

PRI ST H = 5 H WS [E R 5 BRI AR DRFFBSR  IRIFIBEE 38 RS T R P IE
’MI%L’D
Maintenance checking points: Check the mounting bolts, remain fixed bolt locked,

installation of the isolator, and the deflection of the spring.

P3

....................................... TS Eﬁ%@dﬁﬁi@ﬂ TS2731BO0-202( cevveceeeveceeesesncecsencccsantcccanacccnnns
ADD: No.699,Caosheng Road, Shanghai WEB: http://www.songjiangjituan.com



AL 5= B

SONGJIANGGROUP

B 2) DL 12 Mgk e 5 S 15 e % [
SE» AHANVBUR s[RI DA R AR 4 55 SR =
i [ 7E o

Fig 2) Fasten the isolator and the
Equipment with M12 fixed bolt without
locking it. Fasten the isolator with
foundation bolt

B D CREERMIT B, 3k DOK &

=

Fig 1) Remove quilting rivet and fix
the height with wooden panel.

K 3) B R A L R, e
PRI BLURTE 57 10mm , FEAHX B .

Fig 3) Loosen the nuts on both sides
for 5 10mm first before adjusting
height of the isolator and lock

them afterwards

....................................... TS Eﬁ%@dﬁﬁi@ﬂ TS2731BO0-202( cevveceeeveceeesesncecsencccsantcccanacccnnns

ADD: No0.699,Caosheng Road, Shanghai

WEB: http://www.songjiangjituan.com



@) miren

SONGJIANGGROUP

Kl 4) A 2T AR T PSR 7 1 1
BORRE, (R TS SRR A Ltk
BTt

Fig 4) Adjust the bolt in the
anticlockwise direction with open

wrench to press down the spring and

to raise the iron sheet

(=)

KRG

Fig 5) Adjust until the iron sheet
of the isolator arises. Adjustment
can be stopped and wooden panel can

be removed once you can take out

” !I the pressure pad.

Pl 5) R 2 R A L BT

== == —_—— PRI DL o BT 572 7 8
g
im

K6) RigkeSikseedisin, MR
PRI A R

Fig 6) After the adjustment, lock the
isolator with M12 fixed bolt 5—10mm

....................................... TS Eﬁ%@dﬁfﬁitf:m‘ TS2731BO0-202( cevveceeeveceeesesncecsencccsantcccanacccnnns
ADD: No.699,Caosheng Road, Shanghai WEB: http://www.songjiangjituan.com



